MTG 5501 /FSC/4,5m/60°

4,035,942



MTG 550i /FSC/4.5m/60° (4,035,942) @

44,0350,3434

only standard

43,0004,5245

42,100,017 Tab. 3 \ . -2 020,118
7 @ option

(%4 42,1100,0003 HD

-t

44,0350,3244

DETAIL IF

STANDARD

42,0405,0662 . /’§

Page 2 /10 08.09.2022



MTG 550i /FSC/4.5m/60° (4,035,942) @

OPT!/i T-Handle SET for Push  44,0350,5298

42,0405,1293

o
! T
N B/, k) '
\er'
‘\__J‘II
Lyl
|f"r
2e
i
~
42,0401,0886
-
.- I
- o
- st
sl
ot
oy
//}I
-
P
s
A
N
LA
Sy,

OPTI/i Button extension kit

-~

OPTION Torch Trigger

42,0405,0671 TT

1
1
4,070,958,Z TT |

Page 3/10

08.09.2022



MTG 550i /FSC/4.5m/60° (4,035,942) @

MTG 550i

44,0350,4102

42,0405,0753

option

option
42,0100,0510 HD

option
42,0001,6517 HD

copper

- TAB. 1
S =7 M8x1,5
TAB. 10
~ 44,0350,3180
standard

Page 4 /10 08.09.2022



MTG 550i /FSC/4.5m/60° (4,035,942) @

TAB. 1 contact tip |

0.7 0.027 |42,0001.6482,10
0,8 0.030 |42,0001.6464.10
0.9 0.035 [42,0001,6465,10
0.040 [42.0001.6466.10
0.043 142,0001,6483.10
0.045 [42.0001,6467.10
0.051 [42,0001,6484,.10
0.052 [42,0001,6468,10
. 42,0001.6485.10
0.062 |42,0001,6469.10
0.071 |42,0001,6470.,10
0.07v8 [42,0001,6471,10
0.095 142,0001,6472,10
0.110 |42,0001,4642,10

m CuCrzr 5 @ mm | @inch Part No.
Nm

10,
—-—l—l-—
M8x1,5

[RS]ES] | £ ) (=Y SNy NN SR SN EEV NN Y

32

ook p~o
=]
=)
o
©

@inch Part No.

0.030 |42,0001,6537,10
0.040 |42,0001,4750,10
0.045 [42,0001,4751,10
0.062 [42,0001,4752,10

>
5 0)
JEY P PN e [}
=1
3

@10,
M8x1,5

32

Y GEN E-Cu 5 @ mm | @inch Part No.
Nm

0,9 | 0.035 |42,0001,7028,10
1,0 1 0.040 | 42,0001,7029,10
1,2 0.045 | 42,0001,7030,10

1 _
s (<]
|

32

M8x1,5

Page 5/10 08.09.2022



MTG 550i /FSC/4.5m/60° (4,035,942) @

TAB. 10 gas nozzle

d1 d2 d3 L Part No. @
M25x3 mmj inch|mm jinch| mm ;inch | mm ,inch

. 15 |0.59|27| 1.06| 19 |0.75| 80,5 3.17| 44,0350,1987

15 [0.59]@27|1.06| 19 |0.75| 82,5 3.25| 44,0350,1988
17 |0.67|@27]| 1.06] 21 |0.83 | 83,5| 3.29| 44,0350,3179
18 |0.71|e27| 1.06] 22 |0.89 | 87,5 3.44| 44,0350,3180

d3

d2

di
i

Page 6 /10 08.09.2022



MTG 550i /FSC/4.5m/60° (4,035,942)

L
material d1 d2 Part No. Part No. Part No.
L L L

@ mm inch mm | inch | mm | inch 5m 16.4feet 15m 49.2feet 50m 160feet
Steel liner 0,8 .030 1,4 .055| 4,4 | .176 |40,0002,0040,005 | 40,0002,0040,015 | 40,0002,0040,050
Steel liner 0,9-1,0(.035/.040 | 1,6 062 | 4,8 | .189 |40,0002,0041,005 | 40,0002,0041,015 | 40,0002,0041,050
Steel liner 1,2 045 1,9 | .074 | 4,9 [ .192 [40,0002,0042,005 | 40,0002,0042,015 | 40,0002,0042,050
Steel liner 1,4-1,6|.052/.062 | 2,5 098 | 4,9 | .192 |40,0002,0043,005 | 40,0002,0043,015 | 40,0002,0043,050
CrNi liner .030 1.4 .055 | 4,4 | 176 |40,0002,0044,005 | 40,0002,0044,015 | 40,0002,0044,050
CrNi liner .035/.040 | 1,6 .062 | 4,8 | .189 |40,0002,0045,005 | 40,0002,0045,015 | 40,0002,0045,050
CrNi liner 045 1,9 | .074 | 4,9 |.192 |40,0002,0046,005 | 40,0002,0046,015 | 40,0002,0046,050
CrNi liner .052/.062 | 2,5 | .098 | 4,9 |.192 |40,0002,0047,005 | 40,0002,0047,015 | 40,0002,0047,050
Steel liner coated 030 1.4 055 | 44 | .176 | 40,0002,0052,005 | 40,0002,0052,015 | 40,0002,0052,050
Steel liner coated .035/.040 | 1,6 | .062 | 4,8 | .189 |40,0002,0053,005 | 40,0002,0053,015 | 40,0002,0053,050
Steel liner coated .045 1,9 074 | 4,9 | 192 |40,0002,0054,005 | 40,0002,0054,015 | 40,0002,0054,050
Steel liner coated .052/.062 | 2,5 098 | 4,9 | .192 |40,0002,0055,005 | 40,0002,0055,015 | 40,0002,0055,050

\combi liner W AL | | combi liner G AL |
42,0100,1369
42,0100,1370 1‘\ 42,0100,1370 42,0100,1370
B\ Y ] N AN 1 i
42,0404,0453 42,0404,0192
40mm / 1.575inch 320mm / 11.811inch
L L - L _
L d1 d2 combi liner | combi liner =701y
W AL G AL liner G
@ mm | @ inch m | feet | mm |inch | mm |inch Part No. Part No. Part No.
0,8 030 20 | 65 | 1,2 | .059 | 4,7 | .185 | 44,0350,3388 | 44,0350,3400 | 44,0350,5550
0,8 030 3.8 | 124 | 1,2 | 059 | 4,7 | .185 | 44,0350,3392 | 44,0350,3404 | 44,0350,5513
0,8 030 48 | 1567 | 1,2 | 059 | 4,7 | 185 | 44,0350,3396 | 44,0350,3408 | 44,0350,5518
0,9-10/.035/.040 | 20 | 65 | 1,5 |.082 | 4,7 | 185 | 44,0350,3389 | 44,0350,3401 | 44,0350,5551
0,9-1,0/.035/.040 | 3,8 | 12.4 | 1,5 |.062 | 4,7 | .185 | 44,0350,3393 | 44,0350,3405 | 44,0350,5514
0,9-1,0|.035/.040 | 4,8 | 15.7 | 1,5 | .062 | 4,7 | .185 | 44,0350,3397 | 44,0350,3409 | 44,0350,5519
1,2 |.045 20 | 65 | 1,8 |0.74 | 4,7 | .185 | 44,0350,3390 | 44,0350,3402 | 44,0350,5552
12 |.045 38 | 124 1,8 | 0.74 | 4,7 | .185 | 44,0350,3394 | 44,0350,3406 | 44,0350,5515
1,2 |.045 48 | 157 | 1,8 |0.74 | 4,7 | 185 | 44,0350,3398 | 44,0350,3410 | 44,0350,5520
14-16/.052/.062 | 2,0 | 65 | 2.4 | 098 | 4,7 | .185 | 44,0350,3391 | 44,0350,3403 | 44,0350,5553
14-16|.052/.062 | 3,8 | 124 | 2.4 | 098 | 4,7 | .185 | 44,0350,3395 | 44,0350,3407 | 44,0350,5516
1,4-1,6/.052/.062 | 48 | 15.7 | 2,4 | .098 | 4,7 | .185 | 44,0350,3399 | 44,0350,3411 | 44,0350,5521
2,0 .045 2.0 6.5 1,2 | .059 | 4,7 | .185 | 44,0350,3615 | 44,0350,3618 | 44,0350,5554
20 |.045 3,8 | 124 | 3.0 | .118 | 4,7 | .185 | 44,0350,3616 | 44,0350,3619 | 44,0350,5517
20 |.045 48 | 157 | 3.0 |.118 | 4,7 | .185 | 44,0350,3617 | 44,0350,3620 | 44,0350,5522
Page 7 /10 08.09.2022



MTG 550i /FSC/4.5m/60° (4,035,942) @

‘ TAB. 4 clamping piece ‘

Fe / CrNi Alu / CuSi colour

@ mm | @inch
0,8 .031 44,0350,3314 grey
0.8 .031 44,0350,3315 grey

0,9-10 | .039 44,0350,3317 blue
1.2 047 44,0350,3318 red

1,4-16 .062 44,0350,3320 black
2,0 .078 44,0350,3321 green
2.4 .095 44,0350,4245 brown
2,0 078 P @)ﬂ
24 | 095 | 4200014589 @\Q\mly
2.8 110 stuck

Page 8 /10 08.09.2022



MTG 550i /FSC/4.5m/60° (4,035,942)

\Froniu=

| basic kits

Fe CrNi Alu CusSi Alu/CuSi
MTG / MTW MTG/ MTW MTW MTW MTG
@mm @inchi m | et/ part No. | PartNo. | PartNo. | PartNo. | Part No.
0,6 | .023 | 50/11.5 | 44,0350,5296 X X X
\ 0,8 030 | 5,0|11.5| 44,0350,5117 | 44,0350,5158 | 44,0350,5135 44.0350,5144
09 | 035 | 50/|14.8| 44,0350,5118 | 44,0350,5159 | 44,0350,5136 44,0350,5145
@ ﬁ 1,0 | .040 | 5,0|11.5| 44,0350,5119 | 44,0350,5160 | 44,0350,5137 44,0350,5146
ﬁ 1,2 | .047 | 5,0|14.8| 44,0350,5120 | 44,0350,5161 | 44,0350,5138 44,0350,5147
1,4 | .052 | 50|11.5| 44,0350,5121 | 44,0350,5162 | 44,0350,5139 44 ,0350,5148
16 | .062 | 50(14.8| 44,0350,5122 | 44,0350,5163 | 44,0350,5140 44,0350,5149
2,0 078 | 50|14.8 X X 44,0350,5141 X
Page 9/10 08.09.2022




MTG 550i /FSC/4.5m/60° (4,035,942)

TOOLS

contact tip + nozzle stock

42,0201,3216

nozzle stock

nozzle stock socket torque torque wrench 4-20 Nm
42,0001,4712 44,0450,1938 | 8
Nm
contact tip torque wrench | torque torque driver
M6 ﬁ 42,0001,6774 |( 3
Nm
M8x1,5 ﬁ 42,0001,6775 5
Nm

Page 10/ 10

08.09.2022


http://www.tcpdf.org

